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Decide if the semicolons in the extracts below are correctly used (a) or
incorrectly used (b).

1. Anoptical wedge is located between; the test-flash beam and the artificial
pupil. b don’t use semicolon to introduce a list. Here, no punctuation is
necessary.

2. The subject must decide what criteria to use to determine when the test flash
is at threshold visibility; they must then use these same criteria throughout
the experiment. a used to separate two related independent (main) clauses.

3. Several theories have been proposed in the last 20 years and these include:
behaviourist conditioning theory; connectivist theory; social constructivist
theory; and transformative theory. a used to separate complex items in a list

4. Game theory is relevant to games in which one person’s gains result in losses
for the other participants; this theory is now often applied to a wide range
of behavioural relations, and can be an umbrella term for any area related to
the science of logical decision making. a used to separate two independent
(main) clauses. A full stop may be better here, however, as the sentence is
very long.

5. Game theory can be an umbrella term for any area related to the science
of logical decision making; however, the most common use of the theory is
to model population growth. a used to separate clauses after linking word
‘however’.




